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(a) Differentiate (x® — 2x)Inx with respect to x.
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(a) Differentiate (x* — 2x)Inx with respect tox.
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(&) Differentiate = with respect to x.
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(a) Differentiate =— with respect to x.
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The function f(x) is defined as
f(x) = (& —4x + 4 In(x), x>0
(a) Show that the graph of y = f(x):intercepts the x-axis at the points (1,0) and (2,0).

(41
(b) Find £'(x).

(<) Find the gradient of the tangent at the point (1,0).

121

(d) Hence find the equation of the tangent at the point (1.,0), giving your answer in the
form ax + by + ¢ = 0, where a, b and c are integers to be found.
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The function f(x) is defined as k\a) %C&U@% Q&)b
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(b) Find f'(x).
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(9) Find the gradient of the tangent at the point (1,0).

1 orc-2
2] ¥ ac}-_' + ;2 :x',—l n\x
(d) Hence find the equation of the tangent at the point (1, 0), giving your answer in the x
form ax + by + ¢ = 0, where a, b and ¢ are integers to be found.
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The function f(x) is defined as
() = (6 —4x+4)In(x), x>0

() Show that the graph of y = f(x) intercepts the x-axis at the points (1,0) and (2,0).
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(b) Find f'(x). X
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(d) Hence find the equation of the tangent at the point (1.,0), giving your answer in the
form ax + by + ¢ = 0, where a, b and c are integers to be found.
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The function f(x) is defined as Ld ) ™ :\ K_/\ ) O >
f(x) = (x* —4x+4)In(x), x>0 ]
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(d) Hence find the equation of the tangent at the point (1,0), giving your answer in the
form ax + by +¢ = 0, where a,b and ¢ are integers to be found.
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Given that f(x) = x?
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Given that f(x) = x?

(a) Use differentiation from first principles to show that
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A curve has the equation y = 5e~%".

4
(a) Find an expression for é.

(2]

(b) (i) Find the gradient of the tangent at the point where x = 1, giving your answer in
the form —ae % where a is a positive integer to be found.
(ii) Hence show that the gradient of the normal to the curve at the point where x
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(b) (i) Find the gradient of the tangent at the point where x = 1, giving your answer in
the form —ae~ where a is a positive integer to be found.

(i) Hence show that the gradient of the normal to the curve at the point where x = 1 P\t = \ é _ \ ig'A
- =Y, A - -\0e

is Ty ez. é.:t,
Grdiear & -\0*

(i) ) Nowol i© ‘QS—P@;*A\C,O\O\‘
- —\

“ﬁf\'aﬂfﬁk g = m\
At =\ , %Vod'\@ﬂlr & =\
-\0c*

3]

Fsavemyexams

Gradiesr s 156"





image5.png
() y=sin(3x?),
(i)  y=2m(?).

(4

()

—F"\a- %umcsticm ocd Choin Rde
C\% = CCS@UC? > X 63(1





